Notation Scientifique (H)

Iranscrivez chaque nombre ci-dessous en notation standard ou scientifique,

9,82 x 10° = 64 600 =
1,82 x 107 = 24130000 =
753000000 = 25000000 =
68 000 = 5149 x 107 =
695 000000 = 5181 x10° =
4,2 x 10° = 5576 =
8,216 x 108 = 7 x 10° =
52000000 = 180000000 =
6,15 x 108 = 80100 =
3,8 x 10* = 4,5 x 107 =
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Notation Scientifique (H) Solutions

Iranscrivez chaque nombre ci-dessous en notation standard ou scientifique,

9,82 x 10°

1,82 x 107

753 000 000

68 000

695 000 000

4,2 x 10°

8,216 x 10°

52 000 000

6,15 x 10°

3,8 x 10*

9820000

18200 000

7,53 x 10°

6,8 x 10*

6,95 x 10°

4200

821 600 000

5,2 x 107

615000 000

38000

64 600

24130 000

25000000

5,149 x 107

5,181 x 107

5576

7 X 10°

180 000 000

80100

4,5 x 107

6,46 x 10*

2,413 x 107

2,5 x 107

51490 000

5181

5576 % 103

7 000000

1,8 x 108

8,01 x 10*

45000 000
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